
1. Can you fill in the blanks? 

 
 

 

 

 

                                There are 6 equal groups of 4. 

                               4 + 4 + 4 + 4 + 4 + 4 = 24 

       

2. Can you circle all numbers in the 4 times table?  

  

 

 

3. Can you complete the number sentences?  

 

 
 

 

 

 

4. Ali had 8 boxes with 4 toy cars in each box.  

His brother then gave him 2 more cars. How many cars does he have now?  
 

2 step question!  

8 x 4 = 32 
32 + 2 = 34 

  
 

5. A baker needs 20 cakes for a party. 

He has 6 boxes of cakes and in each box there are 4 cakes.  

I don’t think he has enough cakes.  

Do you agree? Why/ why not? I disagree because 6 x 4 = 24 and 24 is more than 20. 
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This one was especially tricky!  

How long is the blue strip? 4 cm. The orange strip is 4 times as long – 4 x 4 = 16 

How long is the orange strip? 16 cm 

 

Can you create your own question similar to this?  

 

 

 

 

A bottle contains 4 litres of juice.  

Stella needs 30 litres of juice for a party. 

She has 12 bottles.  
Does she have enough juice? How do you know?  

I think she does have enough juice because 4 x 12 = 48 which is more than 30.  
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